Pin? (DQO/DQ8)

MCU_DBUS BIT 0 8

Pin? (DQ1 /DQ9)

MCU_DBUS BIT 1 9

Pin? (DQ2/DQ10)

MCU_DBUS BIT 2 10

Pin? (DQ3/DQ11)

MCU_DBUS _BIT 3 11

Pin? (Latch DQO - 7)

[ MCU_TO_SDRAM_LATCH 0

Pin? (DQ4/DQ12)

MCU_DBUS BIT 4 12

Pin? (DQO)

Pin? (DQ5/DQ13)

MCU_DBUS BIT 5 13

Pin? (DQ6/DQ14)

MCU_DBUS BIT 6_14

Pin? (DQ7/DQ15)

MCU_DBUS BIT 7 15

Pin? (Latch DQ8 - 15)

[[MCU_TO_SDRAM_LATCH 1

DO Qo SDRAM_DBUS_BIT 0 LD4
Pin? (DQ1)
D1 Qt SDRAM_DBUS_BIT 1
Pin? (DQ2) Do Qo
D2 Q2 DBUS_B_2
Pin? (DQ3) D1 Q1
D3 Q3 DBUS_B 3
—,7 D2 Q2 SO
D3 Q3 D1
G \\
DO
['SDRAM_TO_MCU_LATCH_0 M
. 2 1
YA
| -
Pin? (DQ4) ‘ ‘ A
DO Qo DBUS B_4 LU b1
Pin? (DQ5) \\
D1 Q1 DBUS_B_5 Do
Pin? (DQS) Do Qo M2 ‘I
D2 Q2 DBUS_B 6 b1 at —
Pin? (DQ7)
D3 Q3 DBUS_B_7 D2 Q2 S0
‘ D3 Q3 Di
G
DO
Pin? (SWITCH) L
[ BUS_SWITCH G — M2—1
LD4 s
Pin? (DQ8) LD4 Di
DO Qo SDRAM_DBUS_BIT_8
Pin? (DQY) DO
D1 Q1 DBUS_B_9 2y Qo
Pin? (DQ10) M2 1
D2 Q2 DBUS_B_10 D1 Qt ﬁ —
Pin? (DQ11)
D3 Q3 DBUS B 11 D2 Q2
—,‘7 D3 Q3 Q S0
G D1
G \\ DO
Pin? (Latch DQ8 - 15) M 2 1
LD4 [ SDRAM_TO_MCU_LATCH_1>—* —
Pin? (DQ12) LD4 0
DO Qo DBUS B 12 N
Pin? (DQ13) D1
D1 at DBUS B_13 po a0 \\
DO
Pin? (DQ14)
D2 Q2 DBUS B 14 o @ M2 1
Pin? (DQ15) D2 Q2 —
D3 Q3 DBUS_B_15
D3 Q3 SO
D1
G
G \\ Do ||
SO
D1
DO




